Sccd\o«n I3 4R

oo = Uex . gyloi)=¢ =
=l =l o £
wivo)=o : )

'M%(x,o):ﬁ,o-wx & x gy

o.olm=X) T <xer

-

= Lo

M we kkrvow Haak MWQOMWQ»B:

Wl s hizi (%095 (“1£) *’B;*%m[ﬂ"_g)j sfm("—T{-_‘ﬂ

z
{” HaL poanve tmahon with € =1 ard ulo =10 :LL(TF,{:B
(y/uo bowd:ua Condd hms) | Sv, Mrs % e twih'e
Lendihong :

e
n L = :
W) = 2 B s (RN S0 VR e @) e 000 T

1=

’bt.&(x,{ﬂ = nZ:I (__Bh_n: n‘IT{:) L :6 ws“}_fgl—)j 51)&(“9)

2 W il% pl= 2 VT
W= \E%n(HWX) £

‘H‘M‘S WL hane o Kowdies Heaies {Jg?w“mmjz%% odd.
\o,(’/qub\C eplension of Lw’} oo Sl L=TT:
_ Ea
Ca e Bh ES Lo s () L
¥/

Z
= ({ ODDL sta(n by + (@D\\(-;r—)o,\(m{nx\dbé
[ %

n

m—e
—

H

kL gml \mﬂ\ ‘&;ws(nﬂﬂl

cos ) — --_ (oS

oos(vtx)

t /Qﬁr J,ls,n ‘Qf/) + }»“’5( ) q--L@.nQﬂﬂ')' 5'“@} oqsm(;‘j

W\



5 - i B* = o4
- 2 b = Tn> %’\"(%r>
x .04 n
= ?)h = = EM( 2
Tn ‘
wad
W xt) = 2 2. ¢ (ﬂr)% nt Ny
1 - n3 Sin 2> M./( '—_“_— ) 5‘\'\4.( -——Tr_ )
= 5 . 04 i | BT
— m( ;L) s () s(nx)



